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INTRODUCTION TO ORVIVE TRIG FUNTIONS We study reverse functions here; We remember that getting the reverse of a function basically changes the \ (x \)- andI (.) VI TNARDAUQ NI Seulav avoidagen htiw,))) \} 2 {} Ip \ {carf\ (\ DNA) \} 2 {} Ip\ {carf \-(\ neewteb (Stnardauqg VI DNA I EHT NU Snoitcnuf Nat DNA, CSC, Nis Esrevni EHT DNA,))
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ROF GNIVLOS DNA memorize these rules, since it is simple to do so). These are called domain restrictions for reverse trig functions. Important note: There is a subtle distinction between finding reverse trig functions and solving for trig functions. If we want \(\displaystyle {{\sin} {{{}}}}}}}}{\left( {\frac{\sqrt{2}}3}}3}{2}}}3}}{2}}} }\right)\ For
example, we only choose Quadrants I and IV responses, so we get \(\displaystyle \frac{\pi} {4 }\) only. But if we are solving \(\displaystyle \sin \left( x \right)=\frac{\sqrt{2}} } } {2\}) as in the Solving Trigonometric Functions section, there are no domain restrictions, so we get \(\displaystyle \frac{4}\) and \(\displaystyle\frac{2\ Here are the tables of the
reverse trig functions and their t-charts, graphics, domain, range (also called the main interval), and any asyntotes. #### ######HHHHHHHHHHHHHHHHHHBHHH AR RSB HHHBHFHH#HHH###### Range: \(\left] {0,\pi Hright\(\begin{array}{l}y={\tan } } }\left( x \right)\text{ or}\y=\arctan \left(x \right)\end{array }\(x\)\(y\play2 und\ -1 \
(displaystyle}{ 0 0 A AA AA AA A 1 A A\(\displaystyle \frac{\pi }{4}\) A Aund A A\(\dlsplaystyle \frac{\pi }{2}\) (und = undefined) A ADomain: \(\left( {- -\infty \infty } \right)\) A A A A Range: \(\displaystyle \left( {-\frac{\pi } {2} \frac{\pi }{2}} \right)\) AAAA Asymptotes: \(\displaystyle y=-\frac{\pi } {2} \\\frac{\pi }{2}\) \(\begin{array}{l}y={{\cot
7 {{-1}} N\left( x \right)\text{ or}\\y=\text{arccot}\left( x \right)\end {array}\) A A\(x\) \(y\) A A A Aund \(\pi \) A A ¢AAA1 \(\dlsplaystyle \frac{3\pi }{4}\) AAAAAAAAOAA \(\displaystyle \frac{\p1 H?2 }\) AAAAAAAA1AA \(\dlsplaystyle \frac{\pi }{4}\) A Aund A A 0 A ADomain: \(\left( {- -\infty \infty } \right)\) AAAA Range: \(\left( {0,\pi } \right)\)
Asymptotes: \(y=0,\,\pi \) \(\begin{array}{1}y={{\csc }~{{-1} } Nleft( x \right)\text{ or}\\y=\text{arccsc}\left( x \right)\end{array}\) A A\(x\) \(y\) A AA A ¢AAA1 \(\displaystyle -\frac{\pi }{2}\) AAund AAAAOAAAAAAAAT1AA \(\displaystyle \frac{\pi }{2}\) A ADomain: \(\left( {-\infty , -1} \right]\cup \left[ {1\infty } \right)\)A A A ARange: \

(\displaystyle \left[ {-\frac{\pi }{2},0} \right)\cup \left( {O0,\frac{\pi }{2}} \right]\) Asymptote: \(y=0\) \(\begin{array} {I}y={{\sec } ~{{-1}} H\left( x \right)\text{ or}\\y=\text{arcsec}\left( x \right)\end{array}\) A A\(x\) \(y\) A AA A ¢AAA1 \(\pi\) A Aund \(\displaystyle \frac{\pi } {2}\) A AA AA AA A 1 0 Domain: \(\left( {-\infty ,-1} \right]\cup \left[

{1 \infty } \right)\)A A A ARange: \(\displaystyle \left[ {0,\frac{\pi }{2}} \right)\cup \left( {\frac{\pi }{2},\pi } \right]\) Asymptote: \(\displaystyle y=\frac{\pi } {2}\) Evaluating Inverse Trig Functions ¢AAA Special Angles When you are asked to evaluate inverse functions, you may see the notation \({ {\sin }~{-1}}\) or arcsin; they mean the same thing.
The following examples use angles that are special values or special angles: angles that have trig values that we can compute exactly, since they come right off theA AUnit Circle: To do these problems,A Aremember the ¢AAAsun¢AAA diagrams to make sure you¢AAAre getting the angle back from the correct quadrant:A A A A When using the Unit
Circle, when the answer is in Quadrant IV, it must be negative (go backwards from the \((1, 0)\) point). For example, for the \(\displaystyle {{\sin } ~{-1} }\left( -\frac{1}{2} \right)\) or \(\displaystyle \arcsin \left( -\frac{1}{2} \right)\), the angle is 330A°A, or \(\displaystyle Mrac{11\pi }{6}\). But since our answer has to be between \(\displaystyle -
\frac{\pi }{2}\) and \(\displaystyle \frac{\pi }{2}\), we need to change this to the co-terminal angle \(-30{} ~\circ \), or \(\displaystyle -\frac{\pi }{6}\). To get the inverses for the reciprocal functions, take the reciprocal of what¢AAAs in the parentheses and then use the ¢AAAnormal¢AAA trig functions. For example, to get \({{\sec }~{-1} }\left( -
\sqrt{2} \right)\), look for A A\(\displaystyle {{\cos }~{-1} Nleft( -\frac{1 FH\sqrt{2}} \right)\), which is \(\displaystyle {{\cos } ~{-1}}\left( -\frac{\sqrt{2}}{2} \right)\), which is \(\displaystyle \frac{3\pi }{4}\), or 135A°A. Check your work: For all inverse trig functions of a positive argument (given the correct domain), we should get an angle

inA AQuadrant IA A(\(\dlsplaystyle O\le \theta \le \frac{\pi }{2}\)). For theA Aarcsin,A Aarccsc, andA AarctanA Afunctions, if we have a negative argument, we¢AAAIl end up inA AQuadrant IVA A(spemﬁcally \(\displaystyle -\frac{\pi } {2}\le \theta \le \frac{\pi }{2}\)), and for theA Aarccos,A Aarcsec, andA AarccotA Afunctions, if we have a negative
argument, we¢AAAll end up inA AQuadrant II (\(\displaystyle \frac{\pi }{2}\le \theta \le \pi \)). For arguments outside the domalns of the trrg functions for arcsin, arccsc, arccos, and arcsec, we¢AAAIl get no solution. Evaluate the following inverse functions: Inverse Function Answer Inverse Function Answer \(\displaystyle {{\cos }~{{-1}} }\left(
{\frac{1}{2}} \right)\) What angle gives us \(\displaystyle \frac{1} {2}\)A Aback for iP \ 2 {Carf \ Eletsyalpsid\ (\?) °a°&d°aaa°8l1dnaa°2()\ip\ (\ dna O neewteb,) NAT ROF KCAB) \} 3 {TRQs \-=}} } 3 {trks \ {{{}}} 3 {trgs \ {{{Carf\ todc \}}} 3 {trgs \ {{{{{{{{{{{{Carf\-=}} 3 {trgs\ {} 3 {{} 3 {{} 3 {Carf? - ellytsalpsid \ (\ laCorpicer (to
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Elytsybalpsid\(\ ?? )a°A,09 DNA A°A,093“a€A¢a“a€A¢( \}\}\}12{} IP\{CARF\ ELYTSYALPSID\(\ DNA \}2{} 1P\{CARF\ Elytsyalpsid\(\ Neweb ,)is rof kcab \}2{}2{}} }2{trgs\{{carf\-= }}2{trqs\{{}1 {carf\- elytsyalpsid\(\ lacorpcer( csc rof kcab )\ }2{trgs\- elytsyalpsid\(\ su sevig elgna tahw )\)thgir\ } } 2 {tfel\} cscccra{txet\(\ .I tnardauq ni eb llew ti 0s )
081 ro( )\ ip\(\ dda ot evah dluow ew ,Rotaluclac eht ni )\)thgir\ }1-{ (tfel\} }1-{{{"} tC\{{{(\ tup Ew and taht etton A°A,5331 A,RO )\}4{}} IP\3{{CARF\ Elytsyalpsid\(\ ?)a°A,081 DNA A°A,0( )\ iP\(\ DNA 0 Newteb ,)Nat rof kcab )\1-=}}1--{}1{carf\ elytsyalpsid\(\ lacorpcer( toc rof kcab )\1-(\ su SEVIG ELGNA TAHW )\)thgir\ }1-{ ( tfel\} }}1-{{"} toc\
{{{(\ .II tnardauq ni eb llew ti os )a°A,081 ro( )\ ip\(\ da ot evah dluow ew ,Rotulubclac eht na A,,, )\)thgir\ }}3{tfel\} }1-{{~} nat\{{(\ tup ew and taht e Ton 4°A,021 ### \ Displaystyle {{\ cot} {\ fn} \left -\ fraud {1} {\ sqrt {3} \ right) \) in radians :, or in degrees :. IMPORTANT NOTE: When obtaining Trig inverse in the calculator, we only obtain a
return value (which we owe, due to domain restrictions, and therefore quadrant restrictions). However, when solving trig equations, we usually obtain many solutions, for example, if we want values in the interval \ (\ left [{0.2 \ pi} \ right) \), or on the reais. We will see how to use the inverse trig function in the calculator when solving trig equations
here in the section of trigonoma © tricas solving equations. Transformations of the functions of the reverse trigua We learned to transform parental functions here in the section functions and transformations, and we learned to transform the six trigonoma © tricas aqua functions. Now we will transform the functions of the reverse trigy. T-Charts for
the six trigonoma © tricas inverse functions some prefer to make all transformations with T-Charts as we did before, and some prefer it without t-charts; Most of the examples will show t-charts. Here is the Trig Father Trig Function function that I like to use. Keep in mind that each one is in the right quadrants (to do true functions). Note that when
the original functions have 0 as \ (and \) values, their respective reciprocal functions are indefinite (incident) in those points (by division of 0); These are vertical asinootos. And remember that the Arcsin and \ ({\ without} {-1} \), for example, are the same. Inverse trig function t-charts \ (y = {\ without}~{{-1}} \left (x \right)\) xand a€\) 00 1\ (\
Displaystyle \ fraud (\ pi\) 0\ (\ displaystyle \ fraud (\ Displaystyle -\ fraud {\ pi} {2} \) 4 € “1\ (\ dispaystyle rop etnemlatnoziroh aritse es ocifjArG IE .4 ed rotcaf nu rop etnemlacitrev aritse es ocifjArG IE \)thgir\}2{}x{carf\{ tfel\} } }1-{~} soc\{4=y elytsyalpsid\(\ )\lthgir\}0,ip\-{ [ tfel\(\ :ognaR Jthgir\} }2{}1{carf\, }2{}1{carf\-{ [ tfel\ elytsyalpsid\(\
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J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’IJ’IJ’IJ’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’NNNIJ’IJ’IJ’IJ’IJ’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’NJ’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J’J‘J’J’J’J’J’J’J’J’J’J’NHIJ’IJ’IJ’IJ’IJ’IJ’ \ (\ begin {array} {1} y =\ text {arccsc} \ left ({2x-4 \} right)-\ pi \\ and = \ text {arccsc} \ left ({2 \ left ({x -2} \ right)} \ right)-\ pi \ end {array} \) (factor first to get \ (x\) per se
solo en parente51s ) The chart is horizontally stretched by a \ factor (\ displayStyle \ frac {1} {2} \) a (compression). The chart moves to the 2 units correct and down \ (\ pi\) units. (whispering) [whispering] nis nis \{{ a = y(\ noc ecneimoC ;A\ 13 31-{{" }nis \{{(\ n3Aicnuf anu se 001f.Arg led amrof alL '?001f,Arg etneiugis le arap n3Aicauce elbisop
anu se 1jAuC¢A osrevni girt ed socifjArg ed n3Aicauce :acifjArg anu adad ,esrevni girt ed n3Aicauce anu rartnocne euq agnet euq elbisop se n©AibmaT .)serolav-)\ y( \ aArah ol {b\left( {x-c} \right)} \right)+d\. The graph appears to be moved up \(\pi \) units and reflected vertically, but not horizontally moved. Now we have \(y=-a{\sin } {{-1}}\left( x
\right)+\pi \). The chart seems to be stretched vertically. Normally, the graph went up from 0 to \(\displaystyle \frac{\pi } {2}\) and down to \(\displaystyle -\frac{\pi } {2}\), but this graph went up three times more (from \(\pi \) to \(\displaystyle \frac{5\pi }{2}\), for example. The chart is \(y=-3{{{{-1}} }\left( x \right)+\pi \). Tricky! Reverse Trig
Functions Composed with Special Values/Forms Sometimes you will have to take the trig function of an reverse trig function; type of “undo” what you just did (called composite reverse trig functions). We still have to remember which quadrants the reverse (interior) functions of trig come from: Let's start with some examples with special values or
special angles, which means that the "response" will be in the circle of the unit: Inverse Composition Answer Inverse Response \(\displaystyle \tan \left( {\cHFFFF} What? What angle does it give us? (\displaystyle -\frac{2} {\sqrt{3}}\) back for the sec (\(\displaystyle -\frac{\sqrt{3}}}{2}\) between 0 and \(\pi \) (0° and 180°)? \(\displaystyle \frac{5\pi}
{6°}{6}{6°}{6°} or 150°}}}}} Since we want to tan this angle, we have \(\displaystyle \tan \left( {\frac{5\pi {}}\,\\\\\\left( {=-\sqrt{3}}} {}}{}{F{\\ \\left( {=-\frac{\sqrt{3} {} {} {FI{}{}{}}{\ right)\). \(\cot \left {\text{arctan}\left( {-\sqrt{3 \right)} \right)\) What angle does \(-\sqrt{3}\) back for so, between \(\displaystyle -\frac{\pi } {2} {2} {2} {2}
{2}{\displaystyle \frac{\90 \{\dis} {90 \ Since we want a cradle of this angle, we have \(\displaystyle \cot \left( {-\frac{\pi } {3}=-frac{\sqrt{3}}{3 right). \(displaystyle \tan \left( \{cos ~-{1} }\left( \-frac{1}{2 \right}) right) What angle do you give us \(displaystyle -frac{1}{2}{2}\) back for cos, between 0 and \(pi \) (0° and 180°)? \(displaystyle
frac{2\pi {3\) or 120° Since we want to tan this angle, we have \(displaystyle \tan \left( frac{2\pi {3 right)=-\sqrt{3}. \(cos \left( \{cos ~-{1} }\left(2 \right}) right) Note that \({cos ~-{1}}}} }\left(2 right) is undefined, as the ™1 range Since this angle is not defined, the cos backrest of this angle is undefined (or no solution, or \(emptyset \)). Note that
simply "undo" an angle does not always work: the answer is not 2. \(displaystyle \{in ~-{1} }\left( \{sin \left( frac{2\pi {3\right) right) Since \(displaystyle \sin \left( frac{2\pirt {3 right)=\frac{2\sq} \(displaystyle frac{\pi {3\) or 60° Note that simply “undo” an angle does not always work: the answer is not \(displaystyle frac{2\pi {3}\) (in Quadrant II,)
but \(displaystyle frac{\pi {3}\) (Quadrant I). \(displaystyle \arcsin \left( \{cos \left( frac{3\pi {4 \right ) right) From \(displaystyle \cos \left( frac{3\pi {4 right)=-\frac{2}}}}{2) What angle you give us \(displaystyle -frac{2{\90) \(displaystyle -frac{\pi {4\) or -45° Note again the change in angle quadrants. Trig composites in the Calculator You can also
put trig composites in the graphics calculator (and do not have to be special angles,) butFor aa + adir \ (\ pi \) to the answer you get (or 180 ° if in degrees) when you are receiving the arch o\ ({\ cot}”~{{-1}} \) of a number negative (see the last example). Observe again for reciprocal functions, puts 1 on all Trig's function when it works with the
regular trig functions (such as Cos), and take the reciprocal of what is in the paranesis when it works with the functions of the reverse trig ( as arches). Note: We have to be careful when using \ (\ dispaystyle \ fraud {1} {\ tan \ left (x \ right)} \) for \ (\ cot \ left (x \ right) \) in the calculator. For ajngles \ (\ displaystyle \ fraud {\ pi} {2}, \ fraud {3\ pi}
{2} ), the results will not be correct; Show an error, instead of 0 (Introd of it!). It would be better to use \ (\ displaystyle \ fraud These are some examples: Invent Trig Problem Calculator Steps invent Trig Problem CALCULATOR STEPS \ {\tan} {{=-1}}} \left O}} \left O} {\ dispaystyle {{\tan}}}} \left O} {\c\c\c\c\c\\c\c\c\c\c\c\c\c\
c\c\c\c\c\c\c\clc\c\c\c\c\c\\c\clc\c\clclc\lec\Nec\eclec\ec\c\c\c\chOO\ {}} {4} \right) \)\ (\ dispaystyle \ cot \ left ({\ text {arcsin} \ left ({\ fnmicrocroc {\ sqrt {3}} {2} } \ right)} \ right) \)}} {\ fnmicrosoft sans serif} \ left ({\ text {tan} \ left ({\ fraid Non -special levels, which means that they are not found in the unit. File to
do this is to draw triangles in them coordinate the system, and (if necessary) use the theory Ema Pythagorean to find lost sides. To know where to put the triangles, use the 4 € cebowtiea €: always do the which draws as part of a bow tie that sits on the \(x\) axis. Note that the triangle needs "hug" the \(x\) axis, not theOtel Studies (tel Betel and
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enimreted ot meroehT naerogahtyP eht esu neht dnaA A ,noitceSA AyrtemonogirT elgnairT thgiR eht ni ereh dnuof snoitinifed girt eht ro ,AOT-HAC-HOS Gnisue ,Sseliped gaD and Sadid ) (snonf circit beerbeg Etweef-propjjefoving Enif Fefof. \ (\ DisplayStyle \ Cot \ Left ({\ text {ArcSec} \ Left ({-\ frac {{13} {{{12}}}} \right) \) use \ (\style \ sec \ sec
\) left (\ theta \ right) =\ frac {x} {x} \) to see that\ (r = 13\) and \ (x2 = - = Then use the Pythagorean theorem \ (\ left ({{{{{{{{{{{} right}}}}}}~{2} +{{2}}} = {{{{{13}}}}{2}}} \right) to see that \ (y = 5\). The cradle of this angle is \ (\ DisplayStyle \ Cot \ Left (\ theta \ right) =\ frac {x} {y} = \frac {{-12}} {5} =-\frac {{{12} } {5} V.\ (\
Tan \ Left ({{{{{\\sec} ™ {{{{-1}}}}} \left (O\right)} \) )\ ({\\sec}~{{{{{-1} }}} \left (O \ right)\) is indefinite, since the \ domain ({{{{{{{{\ sec}{{{{{{{-1}{} \) does not include 0}. Since this angle is indefinite, the tanning of this The angle is indefinite (or no solution, or \ (\ showyset \)). \ (\ DisplayStyle \ no \ left ({{{{{{\\tan}}}

{~M {333 \left\ } \ izquierd ({-\ frac {3} {4}}}} \ right) \) use \) (\ DisplayStyle \ Left (\ theta \ right) = \ frac {y} {x} \) \ (yx = -3use) \) \) \ Then use the Pythagorean theorem \ (\ left ({{ {{{{{{{} right}}}}}{2}+{{4}{2}} = {{53}{5}{2}}}}}} \right) to see that\ (r = 5\). The sin of this angle is \ (\ DisplayStyle \ without \ left (\ theta \ right) =\
frac {y} {r} =\frac {{{-3} {5} =-\frac {3} {5} V). \ (\no\left ({{{{{{\M\cos}}~{{{{}}}} \left (0\right) VUV \ 1\ L\ L LV ANV VDMV (A displayStyle {{\ cos} {\{ (\(\{\{\{\{ {\{\O\VF OOV OOV OV OV OOV OO OOV OO O OO DO OO OO OO OO P P P DN 3 )
{{{{{{\}}}}} Here are some problems in which we have variables in the side measurements. Note that algebraic expressions are still based on the pythagorean theorem for triangles, and that \ (r\) (hipotenuse) is never negative. Suppose all variables ( ( tfeL \ }}}1-{{"}}ces \{{{{( tfel \ nis \ elytSyalpsiD \( \ atseupmoc asrevni atseupseR atseupmoc
asrevni atseupseR .selbairav sal ed songis sol rop rasu etnardauc ©Auq ediceD .olugnjAirt le ne )\ x( \ sol noc senoisufnoc rative arap )\ x(\ ed ragul ne )\ t( \ elbairav al ©Acilitu euq atneuc ne agnet y ,savitisop \ ,otnat ol roP )\ }}9-}}2{"~}t{{ 4{{ trgs \ = y(\ euq rev arap )\ }}2{ ~~ Hthgir\ }3-{( odreiuqzi \{{-}}2{"~ }thgir \ }t2{( tfel \\{{ =
132{"}y{{ elytSyalpsiD \( \ naerogatiP ed ameroet le esu ogeuL .)II etnardauc( )\ 3- = x(\y )\ t2 = r(\ euq rev arap )\ }x{ }r{ carf\ = )thgir \ ateht \ \\\ \ \\\ \( tfel \ ces \ elytsyalpsid \( \ esu )\ )thgir\ })thgir\ }t }3{ }2{ carf \-{( tfeL \ }ceScrA{ txet \{( tfeL \ naT \ elytSyalpsiD \(\ )\ }} }}}}}}}2{ " }t{{-1{{ trgs \{{ }1{ carf\ = }y{ }r{ carf\ = )thgir
\ ateht \( tfeL. \ CSC \ elytSyalpsiD \(\ ,otnat ol roP )\ }}}}2{"}{{-1{{ trqs \ = y(\ euq rev arap )\ }2{" }thgir\ }t-{( adreiuqzi \{{-}}2{"}1{{ = }}2{" }y{{ elytsyalpsid \( \ naerogatip ed ameroet le esu ogeuL .)II etnardauc( )\ 1 = r(\ y )\ t- = x(\ euq rev arap )\ }r{ }x{ carf\ = )thgir \ ateht \( tfel \( tfel \ soc \ elytsyalpsid \( \ esu )\ )thgir \ }thgir\
Ht-{(odreiuqzi\ }}}1-{{"}}soc \\{{{{(tfel\csc \(\ )\ }}} YO+ }}2{"}t{{{{ trgs \{{ }3{ carf\ = }r{ }y{ carf\ = )thgir \ ateht \( tfel \ nis \ elytSyalpsiD \( \ ¢A ,otnat ol ToP )\ }}O+ 33 2{ 3t {{ {{{{{{{{{{{{{{{{{{{{{trgs\=r(\oserevarap \ }}2{ " }3{{+}12{"1t{{ = }12{"}r{{ elytSyalpsiD \('\ naerogahtyP ed ameroet le esu ogeul .)i
etnardauc( )\ 3 = y(\y )\ t = x(\ euq rev arap )\ }y{ }x{ carf\ = )ohcered \ ateht \ \ ateht \( tfel \ toc \ elytsyalpsid \(\ esu )\ )thgir \ })thgir\ } }3{ }t{ carf \{( tfel \ }toccra{ txet \{( tfel \ nis \ elytSyalpsid \(\ .\ }} }}2{ ~} }Nthgir\ }1-t{( tfel \{{{-1{{ trgs \ = }r{ }y{ carf\ = )thgir \ ateht \( tfel \ nis \ elytSyalpsiD \( \ ¢A ,otnat ol roP )\ }}}3}2{~}}thgir\
F-t{( tfel \{{{-}}2{"}1{{{{ trgs \ = y(\ euq rev araP ¢A )¢A )\ }2{~}thgir\ }1-t{( adreiuqzi \{{-}}2{"}1{{ = }32{"}y{{ elytsyalpsid \( \ ¢AnaerogahtyP ed meroehT esu ogeul .)i etnardauc( )\ 1-t = x(\y )\ 1 = r(\ ose rev arap )\ }x{ }r{ carf\ = )thgir \ ateht \( tfel \ ces \ elytsyalpsid \( \ esu )\ )thgir \ })thgir \ }t2-{( }t2-{( tfel \{{ = }}2{"~}r{{
elytSyalpsiD \( \ naerogatiP ed ameroet le esu ogeuL .)VI etnardauc( )\ 1 = x(\ y )\ t2- = y(\ euq rev arap )\ }x{ }y{ carf\ = )thgir \ ateht \( tfel \( tfel \ nat \ elytsyalpsid \( \ esu )\ )thgir \ })thgir \ }t2-{( adreiuqzi \ }}}1-{{"}Inat \\{{{{( tfel \ nis \(\ )\ }3{ }}}}9-}}2{"}t{{ 4{{ tras \{{ carf\-= }}3 \-{{ }}}}9-}}2{"}t{{ 4{{ trgs \{{ carf\ = }x{ }y{
carf \ = )thgir \ ateht \( tfeL \ naT \ elytSyalpsiD to see that \(r=\sqrt{4{t}{2}+1}\). So, \(\displaystyle \sin \left( \theta \right)=\ ## ## ## #H #H #H #H# #H# #H# #H #HF #H #HF HH HH HH HH HHE HH HHE HE HE HE HS HE HHE HH FH HFH FH FH FH FH FH FH B BH BH BH BH B B B B BE R R RS A HEHE AR A HE HE HE #HY
HH HH B A A EH BH BH BH BH BH BH BH B B B B R R S RS S A AR AR R R R RS RS S S S S A B A A A A BH BN BN BH BH BH BH B S B S R R S R A A AR AR R RS RS HE HE HE #HH #H #4 Use \(\displaystyle \tan \left( \theta \right)=\frac{y} {x\}) to see that \(y=4\) and \
(x=t\) (Quadrant I). Then use Pythagorean Theorem \(\displaystyle {{2}={t}{2}{4}}}\) to see that \(r=\sqrt{t}~{2}}}}+161}\). So, \(\displaystyle \sec \left( \theta \right)=\frac{x} {x}=}{\frac{{{{{{t}{2}}}}{t}}}}}. Here are other types of reverse trig problems you can see: Reverse trig problem solution How many solutions do you have \({\cos}
{{{-1}}x\) if \(x\) is a unique value in the \(\left[ {-1,1} \right]\) interval? The \({\cos }~{-1}}\) graph is: We see that there is only one solution, or \(y\) value, for each \(x\ value). This makes sense as the function is one to one (you have to pass the vertical line test). What values of \(x\) is \({\sin }~{{{{{-1}}}\left(\sin \left( x \right)} \right)=x\)? For
what values of \(x\) is \(\sec \left( {{ {{{{{{{{{{{{}}}}\left( x \right)}=x\)? For problems like these, we need to see any restrictions on reverse functions, regarding \(x\). For the first problem, the "\(x\)" part is the \({\sin }~{{{{{-1}}}}}\), so \(x\) is restricted to \(\displaystyle \left[ {-\frac{\pi }{2} \frac{\pi }{2}}}{2}}{2}} \right). In the second
problem, the "\(x\)" part is the \({ {{\sec }~{{{{{{-1}}}}\), so \(x\) is restricted to \(\left( {-\infty ,-1} \right]\cup \left[ {1\infty } \right)\). \(\sin \left( {{{\sin} {{{}}} Fleft( x \right) H\right)=x\) is true for which of the following values? a) \(\displaystyle(b) 0 c) \(\displaystyle \frac{1}{\sqrt{2}}}}{\) d) 3 All the answers are true, except d), since 3 is not
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